
Operation Manual
365nm Ultraviolet LED Lighting Fixtures

VS-60
VS-120

English



Table of Contents 
 
 
Introduction           3 
 
 
Safety Information          3 
 
 
Specifications          4 
 
 
Setup & Operation          5 
 Unpacking          5 
 Optional Accessories         5 
 Installation          5 
 Local Control Source Operation        5 
 Effects (Local)          5 
 DMX512 Control Source Operation       6 
 Effects (DMX512)         6 
 RDM Functions          6 
 
 
Graphical Menu Tree         7 
 
 
DMX Chart           10 
 
 
Maintenance           11 
 Optic Change/Replacement        11 
 Software Updates         11 
 Cleaning          11 
 
 
Troubleshooting          11 
 
 
Diagrams           12 
 Isometric & Line Views VS-60        12 
 Isometric & Line Views VS-120        13 
 Exploded View VS-60         14 

Part List VS-60          15 
 Exploded View VS-120         16 
 Part List VS-120         17 
 Schematic VS-60         18 
 Schematic VS-120         19 
 Spectral Output & Photometrics VS-60       20 
 Spectral Output & Photometrics VS-120       21 
 
 
Limited Warranty          22 
 
 
 
 
 

2 



Introduction 
 
 
Congratulations on your purchase of a Wildfire VioStorm Series UV-A Lighting Fixture. VioStorm fixtures 
combine true 365nm Long Throw performance, with the control and efficiency of LED's. Featuring Wildfire’s 
intuitive new Trias DMX/RDM Control System and versatile interchangeable optics, VioStorm UV lighting is just 
the right combination of power performance and control for a perfect black light storm. Please take a moment to 
read this manual thoroughly before attempting to operate the fixture. Improper set-up, use or servicing may 
cause damage to the fixture and void the unit’s warranty. 
 
 

Safety Information 
 
 
RISK GROUP 3 - WARNING - THIS FIXTURE EMITS ULTRAVIOLET RADIATION (UV) AT A PRIMARY 
WAVELENGTH OF 365NM, AVOID EYE AND SKIN EXPOSURE AT DISTANCES SHORTER THAN 3.3’ (1m). 
DO NOT LOOK INTO THE BEAM DIRECTLY AT DISTANCES SHORTER THAN 11’ (3.3m) OR VIEW THE 
BEAM DIRECTLY WITH OPTICAL INSTRUMENTS THAT MAY CONCENTRATE THE LIGHT/RADIATION 
OUTPUT. 
 
CAUTION – WHEN USED IN ACCORDANCE WITH THE MANUFACTURERS OPERATING INSTRUCTIONS, 
NO HAZARDS EXIST TO MOST PEOPLE AT DISTANCES GREATER THAN 11’ (3.3m) FROM THE FIXTURE. 
HOWEVER, INDIVIDUALS SUFFERING FROM A RANGE OF SUNLIGHT EXPOSURE DISORDERS, 
APHAKIC AND PSEUDOAPHIKIC, OR THOSE INDIVIDUALS RECEIVING PHOTOSENSITIVE MEDICATION 
MAY RECEIVE DISCOMFORT IF EXPOSED TO ULTRAVIOLET LIGHT. 
 
CAUTION – NOT FOR RESIDENTIAL USE. DRY LOCATIONS ONLY. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

3 



Specifications 
 
Housing: 

5052 aluminum with stainless steel hardware 
Finish: 

Flat black powder coat 
Mounting: 

Fully adjustable yoke with three height positions and integrated removable floor stand 
UV Light Source: 

VS-60: Six 10W 365nm UV LED emitters 
VS-120: Twelve 10W 365nm UV LED emitters 

Radiant Power: 
VS-60: 12,240 mW 
VS-120: 24,480 mW 

LED Life: 
20,000Hr. at 25° C 

Optics: 
Molded Silicone 10°, 24° or 40° 

Operating Temperature: 
-10° to 115° F / -20° to 45° C 

Humidity: 
0-95% non-condensing 

Power Connections: 
Neutrik PowerCON 1 Input and Output 

Power Linking: 
VS-60: Eight units at 120VAC 
VS-120: Four units at 120VAC 

Power Cord: 
9’ 14/3 SOW with PowerCON 1 and male Edison 

DMX Connections: 
Neutrik Gold, 5-pin XLR Male, 5-pin XLR Female 

DMX Channels: 
Three (2 Dimming, 1 Effects) 

Control Modes: 
Two (DMX 512 and Local) 

Operation Modes: 
Three (1 Channel, 2 Channel, 3 Channel) 

USB Connection: 
Amphenol Rugged Mini-B USB Female 

Input Voltage: 
100-240 VAC 

Input Current 
VS-60: 0.88 Amps Max 
VS-120: 1.73 Amps Max 

Frequency: 
50-60Hz. 

Power Factor: 
0.97 

Power Consumption: 
VS-60: 86 Watts 
VS-120: 170 Watts 

Circuit Protection: 
7 Amp hydraulic magnetic breaker switch 

Accessory Frame: 
7.5” / 19.05cm 
10” / 25.4cm 

Weight: 
VS-60: 10.35 lbs. / 4.69 kg. 
VS-120: 13.35 lbs. / 6.05 kg 

Protection Rating: 
IP-20 

Safety Listing: 
 ETL #5004307 
 

4 



Setup & Operation 
 
 
Unpacking 
Unpack the fixture and carefully inspect for any signs of physical damage. Report any damage to Wildfire or 
your local distributor immediately. Included with each unit should be the following items: 
 

1. Twenty clamp, designed to attach the fixture to a 11/2” to 2” pipe truss 
2. Safety Cable, provided to secure the fixture when mounted on a pipe truss 
3. 9’ Power Cable 
5. 3’ USB Cable 
6. PowerCON 1 Power-Out Cable Connector 
7. Operation Manual and Warranty Registration Card 

 
Optional Accessories 
Contact Wildfire or your local distributor for pricing on the following optional accessories: 
 

1. 7.5” and 10” Barn Doors 
2. 10° Spot Optic Set 
3. 24° Spot Optic Set 
4. 40° Spot Optic Set 

 
Installation 
The fixture is equipped with a yoke assembly for mounting. The yoke may be fitted with either a pipe clamp 
(included) for mounting on a pipe truss or a baby bail block or junior pin for mounting on a light stand. 
 
If the fixture is mounted on a pipe truss, be sure to use the included safety cable, looping it through the yoke 
assembly and around the pipe truss. This will prevent the fixture from falling and possibly causing injury in the 
event that the pipe clamp was not securely tightened. 
 
To adjust the angle of the fixture, loosen the knobs on either side of the unit slightly, rotate to desired angle and 
tighten. Care should be taken to support the front of the fixture while loosening the knobs to prevent the fixture 
from rotating forward possibly causing injury. 
 
The fixture comes standard with a 7.5” (VS-60) or 10” (VS-120) bracket assembly for attaching barn doors and 
other accessories. When using accessories, be sure to attach the safety cable provided by the accessory 
manufacturer to the fixture yoke assembly. 
 
Plug the fixture into the appropriate power source. If you are controlling the fixture with a lighting control board, 
you will need to make sure it is plugged into a non-dim circuit. If the fixture is plugged into a dimmable circuit, it 
will not operate. 
 
 
Local Control Source 
To operate the fixture in local control, turn the fixture ON by pushing the power/breaker switch to the ON 
position. Set the Control Source menu selection to “Local.” Set the Dimmer menu selection to the desired output 
level (0 – 100%). Set the Effect menu selection to the effect you want. 
 
Effects (Local) 
To utilize one of the fixtures preprogramed effects in local control, set the Effects menu selection to the desired 
effect. There are six different adjustable effects to choose from 
 
Setting  Function Description 
OFF  No Effects All LED's static at the brightness set on the Dimmer setting 
Strobe 1-60 Strobe  Adjustable strobe of all LED's at the brightness set on the Dimmer setting 
Flash 1-60 Flash  Adjustable flash of all LED's at the brightness set on the Dimmer setting 
Pulse 1-60 Pulse  Adjustable pulse of all LED's at the brightness set on the Dimmer setting 
Random 1-60 Random  Adjustable random strobe of all LED's at the brightness set on the Dimmer setting 
Slow Fade 1-10 Fade  Adjustable fade sequence of all LED's at the brightness set on the Dimmer setting 
 

5 



DMX512 Control Source 
To operate the fixture with a DMX 512 control source, connect the fixture to a DMX control device such as a 
lighting control board or lighting control software. Turn the fixture ON by pushing the power/breaker switch to the 
ON position. Set the Control Source menu selection to “DMX512”. If the fixture is receiving valid DMX data, you 
will see three dots flashing in lower the right-hand corner of the display. Next from the DMX Mode menu 
selection set the total number of channels you want to use. There are three different DMX Modes to choose 
from: 
 
1 Channel Mode  
 Dimming Coarse 
2 Channel Mode 
 Dimming Coarse 
 Dimming Fine 
3 Channel Mode 
 Effects 
 Dimming Coarse 
 Dimming Fine 
 
Next from the DMX Address menu selection set the starting DMX address you want to use. The total number of 
addresses available to choose from depends on the DMX Mode you have selected. 1 Channel (001-512), 2 
Channel (001-511), 3 Channel (001-510). Subsequent addresses will be in numerical order. 
 
Effects (DMX512) 
To utilize one of the fixtures preprogramed effects in DMX512 control, set the effects channel DMX address to 
the desired effect setting. There are six different adjustable effects to choose from: 
 
Data Value Function Description 
0-9  No Effects All LED's static at the brightness set on the dimmer channels 
10-59  Strobe  Adjustable Strobe of all LED's at the output set on the dimmer channels 
60-109  Flash  Adjustable Flash of all LED's at the output set on the dimmer channels 
110-159  Pulse  Adjustable Pulse of all LED's at the output set on the dimmer channels 
160-209  Random  Adjustable Random Strobe of all LED's at the output set on the dimmer channels 
210-255  Slow Fade Adjustable fade sequence of all LED's at the brightness set on the dimmer channels 
 
 
RDM 
Remote Device Management is a protocol enhancement to DMX512 that allows bidirectional communication 
between a system controller and attached RDM-compliant devices over a standard DMX line. This allows for 
remote configuration, status monitoring, and management of the connected RDM devices. VioStorm fixtures are 
compliant with RDM protocol and support monitoring and setting of the following parameters: 
 
Fixture Model  Displays the fixture model followed by the current optic setting 
Fixture Label   Display and remotely set fixture label 
Manufacturer  Displays the fixture manufacturers name 
Software Version  Displays the fixtures current software version 
DMX Address  Display and remotely set DMX starting address. 
Lamp Hours  Displays the total hours that the fixture has been on 
Lamp State  Displays the current LED state, OFF or ON 
Temperature  Displays the current LED module temperature with over temperature warning at 55C 
Fan RPM  Displays the current RPM for fans A & B with fan failure warnings at 0 RPM 
Device ID  Display fixtures unique device ID 
 
In both DMX and Local control if no buttons are pressed for 60 seconds the display will go dark. To reactivate 
the display, press any button. 
 
The LED Hours function records the total number of hours the fixture has been on. To reset this, select the LED 
Hours menu selection and then press and hold the UP or DOWN button for 6 seconds. 
 
VioStorm fixtures are equipped with automatic high temperature protection circuitry that shuts the LED’s off if 
the temperature exceeds 70° C. Once it cools to 65° C the LED’s will turn back on. 
 

6 



VioStorm VS-60
Revision 1.2

UP

DOWN

Control Source
Local

SELECT

Home Menu

> Control Source
Local>

DMX Address
509

SELECT
> DMX Address

509 ...>

Graphical Menu Tree

When DMX Signal is present
3 dots flash on display

DMX Address
510 ...>

RDM: Display and set DMX
address

7

UP

DOWN

UP

DOWN

Control Source
DMX512     ...>

DMX Mode
1 Channel

SELECT
> DMX Mode

1 Channel  ...>

DMX Mode
2 Channel  ...>

RDM: Display DMX Mode

UP

DOWN

DMX Mode
3 Channel  ...>

UP

DOWN

UP

DOWN

UP

DOWN

Next Page

UP

DOWN

RDM: Display Fixure Model
and Software Revision



Graphical Menu Tree

8

Dimmer
7%

SELECT
> Dimmer

7%>

UP

DOWN

Effect
Off

SELECT
> Effect

Off>

UP

DOWN

LED Hours
25

SELECT

Pressing UP or DOWN for 6
seconds resets the LED hours

> LED Hours
25>

UP

DOWN

Next Page

Temperature
25C

SELECT
> Temperature

25C>

UP

DOWN

Pressing UP or DOWN has no
function when Control Source
is set to DMX

Dimmer
7%>

Effects Selections are:
Off, Strobe 1-60, Flash 1-60,
Pulse 1-60, Random 1-60 and
Slow Fade 1-10

Effect
Off>

Pressing UP or DOWN has no
function when Control Source
is set to DMX512

When the temperature exceeds
70C the LED’s will will shut off.
Once it cools to 65C the LED’s
will turn back on

RDM: Display temperature 
and overtemp warning at 55C

RDM: Displays Lamp Hours

UP

DOWN

Dimmer
8%>

Local Control Source DMX512 Control Source

UP

DOWN

UP

DOWN

Effect
Strobe 1>

UP

DOWN

UP

DOWN

LED Hours
0>

Pressing UP or DOWN has no
function.

UP

DOWN



Fan RPM
A-4000 B-4000

SELECT
> Fan RPM

A-4000 B-4000>

UP

DOWN

Program Update
Confirm

SELECT

Once the Bootloader Mode
is invoked the fixture will
turn the LED’s off and wait
for the update. When the 
installation is complete it
will return to the home menu
and resume normal operation

> Program Update
Confirm>

UP

Returns to Home Menu

Graphical Menu Tree

Device ID
0X57466E228870

SELECT
> Devive ID

0X57466E228870>

UP

DOWN

Bootloader Mode
waiting for file

UP

RDM: Display fan RPM and
a warning at 0 RPM.

RDM: Display Device ID

9

To exit Bootloader Mode
without updating the
software turn the fixture
power switch OFF

Optic Type
40° Flood

SELECT
>

UP

DOWN

Pressing UP or DOWN for 6
seconds unlocks the Optic Type

Optic Type
10° Spot>

UP

DOWN

Optic Type
24° Wide Spot>

UP

DOWN

Optic Type
40° Flood>

RDM: Display Optic Type

Pressing UP or DOWN has no
function.

UP

DOWN

Pressing UP or DOWN has no
function.

UP

DOWN



Wildfire Trias® Lighting Control System Software Rev. 1.3 
VioStorm VS-60 and VS-120 DMX Channel Assignment

1 Channel Mode
DMX Channel Channel Label DMX Address Data Value Control Function Description
Channel 1 Dimming Coarse 1 0-255 Dimming (0-100%) Adjustment of the brightness level of all UV LED's 0 to 100%

2 Channel Mode
DMX Channel Channel Label DMX Address Data Value Control Function Description
Channel 1 Dimming Coarse 1 0-255 Dimming (0-100%) Coarse adjustment of the brightness level of all UV LED's 0 to 100%
Channel 2 Dimming Fine 2 0-255 Dimming (0-100%) Fine adjustment of the brightness level of all UV LED's 0 to 100%

3 Channel Mode
DMX Channel Channel Label DMX Address Data Value Control Function Description
Channel 1 Effects 1 0-9 Effects Off All LED's static at the brightness level set on channels 2 and 3

10-59 Strobe Strobes all LED's at the brightness level set on channels 2 and 3 at a rate adjustable from 2-12FPS
60-109 Flash Flashes all LED's at the brightness level set on channels 2 and 3 at a rate adjustable from 1-12FPS
110-159 Pulse Pulses all LED's at at the brightness level set on channels 2 and 3 at rate adjustable from 5 sec. long pulse to 4 pulse/sec.
160-209 Random Randomly strobes all LED's at the brightness level set on channels 2 and 3 at an adjustable rate
210-255 Slow Fade Slowly fades all LED's ON and OFF at the brightness level set on channels 2 and 3 at a sequence setting from 1min to 10min

Channel 2 Dimming Coarse 2 0-255 Dimming (0-100%) Coarse adjustment of the brightness level of all UV LED's 0 to 100%
Channel 3 Dimming Fine 3 0-255 Dimming (0-100%) Fine adjustment of the brightness level of all UV LED's 0 to 100%

Slow Fade Effect Sequence
Setting Total Time ON Time Fade Time OFF Time
1m 2:10 1:00 :10 1:00
2m 4:10 2:00 :10 2:00
3m 6:30 3:00 :30 3:00
4m 8:30 4:00 :30 4:00
5m 10:30 5:00 :30 5:00
6m 12:30 6:00 :30 6:00
7m 14:30 7:00 :30 7:00
8m 16:30 8:00 :30 8:00
9m 18:30 9:00 :30 9:00
10m 20:30 10:00 :30 10:00

10



Maintenance & Troubleshooting 
 
 
Optic Change/Replacement 
To change the optics, unplug the fixture. Remove any accessories from the front. Position the fixture on the 
yoke stand so that it is pointed up. Remove the optic bezel from the front of the fixture, exposing the optics. 
Remove the 16 (VS-60) or 32 (VS-120) small screws holding the optic plates to the LED module(s). Lift the 
optics and plate’s straight up and off of the module. To replace reverse these steps. The following optic sets are 
available for the VioStorm series fixtures. Contact Wildfire or your local distributor for pricing 
 
Part #  Description  VS-60  VS-120 
124-030  10° Spot Optic Set 1 Set  2 Sets 
124-031  24° Spot Optic Set 1 Set  2 Sets 
124-032  40° Spot Optic Set 1 Set  2 Sets 
 
Once the optics have been changed, set the Optic Type menu selection to the new optic configuration by 
pressing and holding the UP or DOWN buttons for 6 seconds which unlocks the menu selection and allows you 
to change optic configuration displayed. Navigating out of the Optic Type menu selection locks in the new optic 
configuration you have selected. 
 
Software Updates 
The VioStorm Series control software version is displayed on the home menu screen as seen below in Fig.1. 
When updates to this software are available they can be downloaded directly from the Wildfire website at: 
www.wildfirefx.com/resources/downloads/. You will need to download the complete bootloader/install program 
group and save it to your desktop. Follow the instructions provided with the download to update the software. 
 
 
 
 
 
 
 

Fig. 1 
 
Cleaning 
For best performance the fixture fan vents should be kept free of dirt and dust.  At no time should any cleaning 
chemicals or abrasives be used to clean any part of the fixture. Do not spray or apply any liquid directly to any 
part of the fixture.  Always unplug the fixture before cleaning. For normal cleaning, a dry soft cloth should be 
used to wipe any surface free from dust and light dirt. 
 
 
Troubleshooting 
 
The fixture will not turn on: – Check to make sure there is power to the fixture. Make sure the power/breaker 
switch on the back of the fixture has not been tripped. If you have checked all of the above and the fixture still 
won’t turn on, contact Wildfire technical support at (310) 755-6780 or your local distributor 
 
The fixture turns on but there is no UV light output: Make sure the fixture is set to the correct Control Source 
setting for your mode of operation. (DMX512 or LOCAL) If you are running the fixture in local mode make sure 
the Dimmer menu selection is not turned all the way down. If you are running the fixture in DMX mode, make 
sure the dimmer channels on your lighting control device are not all the way down. If you have checked all of the 
above and the fixture still won’t turn on, contact Wildfire technical support at (310) 755-6780 or your local 
distributor. 
 
 
 
 
 

11 

http://www.wildfirefx.com/resources/downloads/


Isometric & Line Views VS-60

12

Diagrams

901-113-03 VS-60 Line

11.31  

7.50  

14.54  

7.56  

8.96  

16.97  

17.34  

9.33  

10.24  



Isometric & Line Views VS-120

13

Diagrams

901-114-01 VS-120 Line

13.81  

10.00  

17.51  

15.12  

7.81  

11.23  

11.43  

11.80  

17.89  



Exploded View VS-60

14
900-113-03 VS-60 Exploded

31

35

46 23

47

22

50

39
40 19

38

41

10
36

33

23

12

8 13
9

1

11

47 29

30 27

28

4516

47 4

47

5
2 44

6 7
22

3421 23

3

42
47

24 26 14
15 43

20

25

18

17
37

48 49

32



Part List VS-60

15

# QTY. PART # PART NAME
1 1 104-068-04 Housing, Bottom, VS-60
2 2 112-006 Fan, 24VDC, 60 x 60 x 10 mm
3 1 104-062-04 Cover, Housing, Front, VS-60
4 1 110-035 Power Supply, 48VDC, 160W
5 1 104-100-02 Bracket Heat Sink, VS Series
6 1 104-102-03 Heat Sink, VS Series
7 1 117-001-02 6-UV LED Module MCPCB
8 1 115-009-02 Board, DMX/RDM Controller Rev. 2
9 1 115-011-01 Board Display, 2x16 Red,OLED

10 1 115-010-01 Board, 3 Button Touch Control, Rev. 1
11 1 104-069-03 Housing, Top, VS-60
12 4 121-067 Standoff, 3/16” Hex M-F, 4-40 x 1-1/2 AL
13 1 116-009-02 Board, 4 Channel LED Driver Rev. 2
14 2 103-006-02 Spacer, Yoke Assembly
15 1 104-035-02 Yoke, VS-60
16 3 104-101-02 Bracket, Accessory, VS Series
17 2 121-029 Bolt, Carriage, 3/8-16 x 3/4”
18 2 121-063 Washer, 1.250 OD, .375ID, .125Thk, Neoprene
19 1 106-030 Connector, 5 Pin XLR, Male
20 2 120-001 Knob, Yoke Adjustment
21 2 104-103-02 Plate, Optic, VS Series
22 8 121-001 Screw, M, PHL, PH, 4-40 x 1/4” 18-8 SS
23 26 121-090 Screw, PHL, PH, 2-56 x 1/4”18-8 SS
24 1 107-001 Cord, Power, Black, 14 AWG, 9’
25 2 120-004 Knob, Floor Stand Bracket
26 1 106-050 Connector, PowerCON 1, Power IN

# QTY. PART # PART NAME
27 1 104-077-03 Base, Accessory, Safety Catch
28 1 104-078-02 Latch Accessory, Safety Catch
29 1 104-098-02 Spring, Double Torsion
30 1 121-027 Bolt, Barrel, M, COM, PH, .25 x 1.5” 18-8 SS
31 1 121-026 Screw, M, COM, PH, 10-32, .25” 18-8 SS
32 2 121-032 Rivet Nut, Blind, 3/8”-16
33 1 104-063-04 Cover, Housing, Rear
34 6 124-030 (031)(032) Optic, Silicone (10° S), (24° WS), (40° F)
35 4 121-071 Standoff, 3/16” Hex, THD, F-F 2-56 x 7/16”
36 1 106-060 Connector, Mini-B USB, Female
37 1 104-104-01 Bracket, Yoke Stand, VS-60
38 1 106-031 Connector 5 Pin XLR, Female
39 1 106-051 Receptacle, PowerCON 1, Power IN
40 1 106-053 Receptacle, PowerCON 1 Power OUT
41 1 128-017-04 Lable, Control VS-60
42 1 104-106-01 Bezel, Optic, VS-60
43 2 121-060 Washer, Flat, 1.25” OD, 13/32” ID, .13 THK., 18-8 SS
44 8 121-009 Screw, M, PHL, FH, 6-32 x 5/8” 18-8 SS
45 6 121-007 Screw, M, PHL, PH, 6-32 x 3/8” 18-8 SS
46 8 121-002 Screw, M, PHL, FH 4-40 x 3/8” 18-8 SS
47 34 121-005 Screw, M, PHL, PH, 6-32 x 1/4” 18-8SS
48 1 147-021 Clamp, Twenty, Black
49 1 147-002 Cable, Safety, 1/8”
50 1 105-001 Circuit Breaker, Carling, 3A



Exploded View VS-120

16
900-114-02 VS-120 Exploded

7

1

39

5

44734

37
39

3610
35

38
33

32

11
1718

2716

12

12

26

25
19

15
12 20

22 23 21
31

2829

50
4913

41
42 48 43

46

44

45

2
11 6

1412

10 8

10

24

30

10

40



Part List VS-120

17

# QTY. PART # PART NAME
1 1 104-112-01 Cover Housing, Front, VS-120
2 2 117-001-02 6-UV LED Module MCPCB
3 12 121-009 Screw, M, PHL, FH, 6-32 x 5/8” 18-8 SS
4

1 104-114-01 Bracket Heat Sink, VS Series5
2 104-102-03 Heat Sink, VS Series

6 4 104-103-02 Plate, Optic, VS Series
7 1 104-116-01 Bezel, Optic, VS-120
8 1 110-035 Power Supply, 48VDC, 160W
9 3 112-006 Fan 24VDC, 60 x 60 x 10mm

10 38 121-005 Screw, M, PHL, PH, 6-32 x 1/4” 18-8 SS
11 12 121-001 Screw, M, PHL, PH, 4-40 x 1/4” 18-8 SS
12 42 121-090 Screw, PHL, PH, 2-56 x 1/4” 18-8 SS
13 1 104-115-02 Bracket, Yoke Stand, VS-120
14 12 124-030, (031)(032) Optic, Silicone (10° S), (24° WS), (40° F)
15 1 128-018-02
16 1 115-011-01 Board Display, 2x16 Red, OLED 
17 4 121-067 Standoff, 3/16” Hex M-F, 4-40 x 1-1/2” AL
18 1 115-009-02 Board, DMX/RDM Controller Rev. 2
19 1 115-010-01 Board, 3 Button Touch Control Rev. 1
20 1 106-030 Connector, 5 Pin XLR, Male
21 1 106-031 Connector, 5 Pin XLR, Female
22 1 106-051 Receptacle, PowerCON 1, Power-In
23 1 106-053 Receptacle, PowerCON 1, Power-Out
24 1 105-003 Circuit Breaker, Carling, 7A
25 1 104-113-01 Cover Housing, Rear, VS-120
26 1 106-060 Connector, Mini-B, USB, Female

# QTY. PART # PART NAME
27 4 121-071 Standoff, 3/16” Hex, THD, F-F, 2-56 x 7/16”
28 1 106-050 Connector, PowerCON 1, Power-In
29 1 107-001 Cord, Power, 14 AWG, 9’ Black
30 1 116-009-02 Board, 4 Channel LED Driver, Rev. 2
31 8 121-002 Screw, M, PHL, FH, 4-40 x 3/8” 18-8 SS
32 1 104-110-02 Housing, Bottom, VS-120
33 1 104-111-02 Housing, Top, VS-120
34 3 104-101-02 Bracket, Accessory, VS Series
35 1 104-077-03 Base, Accessory, Saftey Catch
36 1 104-098-02 Spring, Double Torsion
37 1 104-078-02 Latch, Accessory, Safety Catch
38 1 121-027 Bolt Barrel, M, COM, PH, .25” x 1.5” 18-8 SS
39 1 121-026 Screw, M, COM, PH, 10-32, .25” 18-8 SS
40 2 121-032 Rivet Nut, Blind, 3/8”-16
41 2 103-006-02 Spacer, Yoke Assembly
42 1 104-036-01 Yoke, VS-120
43 2 120-001 Knob, Yoke Adjustment
44 2 121-063 Washer, Neoprene 1.25” OD, .375” ID, .125 Thk.
45 2 121-029 Bolt Carriage, 3/8”-16 x 3/4”, 18-8 SS
46 2 120-004 Knob, Floor Stand Bracket
47 6 121-007 Screw, M, PHL, PH, 6-32 x 3/8” 18-8 SS
48 2 121-060 Washer, Flat, 1.25” OD, 13/32” ID, .13” Thk., 18-8 SS
49 1 147-021 Clamp, Twenty, Black
50 1 147-002 Cable, Safety, 1/8”

Label, Control, VS-120



Schematic, VS-60 Series

18

DMX IN DMX OUT USB

2

1

3 4

5 1

25

4 3

L
N

AC
 IN

PU
T

G

48
VD

C 
PO

W
ER

 S
UP

PL
Y

DMX CONTROL BOARD

FAN A
+- PT

FAN B
+- PT

FAN C
+- PT

US
B

DM
X

DM
X

CH
 3

CH
 2

CH
 1

CH
 4

LED DRIVER BOARD

TH
ER

MI
ST

OR

48VDC INPUT
48VDC INPUT

LED MODULE 1

CA
PA

CI
TI

VE
 T

OU
CH

 C
ON

TR
OL

 S
W

IT
CH

UP
DO

W
N

SE
LE

CT

TOUCH

12VDC FANS

48V
DC OUTPUTS

48V 48V 12V

POWER SWITCH / CIRCUIT BREAKER AC OUTPUTAC INPUT



Schematic, VS-120 Series

19

DMX IN DMX OUT USB

2

1

3 4

5 1

25

4 3

L
N

AC
 IN

PU
T

G

48
VD

C 
PO

W
ER

 S
UP

PL
Y

48V

DMX CONTROL BOARD

FAN A
+- PT

FAN B
+- PT

FAN C
+- PT

US
B

DM
X

DM
X

CH
 3

CH
 2

CH
 1

CH
 4

LED DRIVER BOARD

TH
ER

MI
ST

OR

48VDC INPUT
48VDC INPUT

LED MODULE 2

LED MODULE 1

CA
PA

CI
TI

VE
 T

OU
CH

 C
ON

TR
OL

 S
W

IT
CH

UP
DO

W
N

SE
LE

CT

TOUCH

12VDC FANS

DC OUTPUTS
48V 48V 12V

POWER SWITCH / CIRCUIT BREAKER AC OUTPUTAC INPUT



Spectral Output Graph

20

Photometrics Chart

UV-A VISIBLE LIGHT

0

10%

20%

PE
R

C
EN

TA
G

E 
O

F 
TR

AN
SM

IS
SI

O
N

WAVELENGTH /NM

30%

40%

100%

90%

80%

70%

60%

50%

32
0

33
0

34
0

35
0

36
0

37
0

38
0

39
0

40
0

41
0

42
0

43
0

44
0

45
0

46
0

47
0

48
0

49
0

50
0

51
0

52
0

53
0

54
0

55
0

56
0

57
0

58
0

59
0

60
0

61
0

62
0

63
0

64
0

65
0

66
0

67
0

68
0

Model VS-60S 10  Spot  °
Distance in Feet/Meters

0.90

0.27

1,248

1.70

0.52

312

3.50

1.07

78

5.20

1.58

34.6

7.00

2.13

19.5

8.70

2.65

12.4

10.50

3.20

8.6

12.20

3.72

6.3

14.00

4.27

4.8

15.70

4.79

3.8

17.50

5.33

3.1

19.20

5.85

2.5

21.00

5.85

2.1

Model VS-60WS 24  Wide Spot   
Distance in Feet/Meters

1.43

0.64

804

4.30

1.31

201

8.50

2.59

50.2

12.80

3.90

22.3

17.00

5.18

12.5

21.30

6.49

12.5

25.50

7.77

8.0

29.80

9.08

5.5

34.00

10.36

4.1

38.30

11.67

3.1

42.50

12.95

2.4

°

Model VS-60F 40  Flood   
Distance in Feet/Meters

3.60

1.10

650

7.30

2.22

162.5

14.60

4.45

40.6

21.80

6.64

18.0

29.10

8.87

10.1

36.40

11.09

6.5

43.70

13.32

4.5

51.00

15.54

3.3

58.20

17.74

2.5

°

Beam Diameter Feet

Beam Diameter Meters

Peak UV-A Irradiance W/cm2

Beam Diameter Feet

Beam Diameter Meters

Peak UV-A Irradiance W/cm2

Beam Diameter Feet

Beam Diameter Meters

Peak UV-A Irradiance W/cm2

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8
90

 / 
27

.4
3

10
0 

/ 3
0.

48
11

0 
/ 3

3.
53

12
0 

/ 3
6.

57

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8
90

 / 
27

.4
3

10
0 

/ 3
0.

48

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8

All peak UV-A irradiance measurements taken at beam center using UVX Digital Radiometer and a calibrated 365nm sensor



Spectral Output Graph

21

Photometrics Chart

UV-A VISIBLE LIGHT

0

10%

20%

PE
R

C
EN

TA
G

E 
O

F 
TR

AN
SM

IS
SI

O
N

WAVELENGTH /NM

30%

40%

100%

90%

80%

70%

60%

50%

32
0

33
0

34
0

35
0

36
0

37
0

38
0

39
0

40
0

41
0

42
0

43
0

44
0

45
0

46
0

47
0

48
0

49
0

50
0

51
0

52
0

53
0

54
0

55
0

56
0

57
0

58
0

59
0

60
0

61
0

62
0

63
0

64
0

65
0

66
0

67
0

68
0

Model VS-120S 10  Spot  °
Distance in Feet/Meters

0.90

0.27

2400

1.70

0.52

600

3.50

1.07

150

5.20

1.58

66.6

7.00

2.13

37.5

8.70

2.65

24.0

10.50

3.20

12.2

12.20

3.72

9.3

14.00

4.27

7.4

15.70

4.79

6.0

17.50

5.33

4.9

19.20

5.85

4.1

21.00

5.85

3.5

Model VS-120WS 24  Wide Spot   
Distance in Feet/Meters

1.43

0.64

1525

4.30

1.31

381

8.50

2.59

95.3

12.80

3.90

42.3

17.00

5.18

23.8

21.30

6.49

15.2

25.50

7.77

10.5

29.80

9.08

7.7

34.00

10.36

5.9

38.30

11.67

4.7

42.50

12.95

3.8

°

Model VS-120F 40  Flood   
Distance in Feet/Meters

3.60

1.10

1325

7.30

2.22

331

14.60

4.45

82.8

21.80

6.64

36.8

29.10

8.87

20.7

36.40

11.09

13.2

43.70

13.32

9.2

51.00

15.54

6.7

58.20

17.74

5.1

°

Beam Diameter Feet

Beam Diameter Meters

Peak UV-A Irradiance W/cm2

Beam Diameter Feet

Beam Diameter Meters

Peak UV-A Irradiance W/cm2

Beam Diameter Feet

Beam Diameter Meters

Peak UV-A Irradiance W/cm2

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8
90

 / 
27

.4
3

10
0 

/ 3
0.

48
11

0 
/ 3

3.
53

12
0 

/ 3
6.

57

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8
90

 / 
27

.4
3

10
0 

/ 3
0.

48

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8

All peak UV-A irradiance measurements taken at beam center using UVX Digital Radiometer and a calibrated 365nm sensor



Wildfire Lighting Three Year Limited Warranty 

Wildfire Lighting warrants to the original owner or retail customer, that for a period of three 
years from the date of delivery of any Wildfire Fixture; whether used in a portable or   
permanent installation, such fixtures will be free from defects in material and  workmanship 
under normal use and conditions. 

Warranty does not cover any product or part of a product that has been subjected to  accident, 
negligence, alteration, abuse or misuse and excludes any accessories or parts not supplied by 
Wildfire. Warranty does not cover expendable parts such as fuses, lamps, glass or any 
components warranted directly to the owner by the original manufacturer. This warranty does 
not extend to products not manufactured by Wildfire. 

Wildfire’s responsibility under this warranty shall be to repair or replace at Wildfire’s discretion 
such parts as determined to be defective upon Wildfire’s inspection. Wildfire will not assume 
any responsibility for any labor expended or materials used to repair any equipment without 
Wildfire’s prior written authorization. 

Wildfire, Inc. shall not be responsible for any incidental, general or consequential damages to 
property, damage for loss of use, time profits or income, or any other charges. 

The owners’ obligation during the warranty period is to notify Wildfire of any suspected defect, 
to obtain a return authorization number, and to return the product freight and  insurance 
prepaid to the following address: 

Wildfire Lighting 2908 Oregon Court Suite G1, Torrance, CA 90503 
(800) 937-8065  (310) 755-6780

Collect shipments for freight allowances or shipments without return authorization numbers 
will not be accepted. 

THIS WARRANTY IS EXPRESSLY IN LIEU OF ANY AND ALL OTHER WARRANTIES 
EXPRESSED OR IMPLIED INCLUDING THE WARRANTIES OF MERCHANTABILITY AND 
FITNESS FOR A PARTICULAR PURPOSE AND ALL OTHER OBLIGATIONS AND         
LIABILITIES ON WILDFIRE’S PART. THERE ARE NO WARRANTIES WHICH EXTEND 
BEYOND THE DESCRIPTION ON THE FACE HEREOF. THE OWNER ACKNOWLEDGES 
THAT NO OTHER REPRESENTATIONS WERE MADE TO HIM WITH RESPECT TO THE 
QUALITY AND FUNCTION OF THE GOODS SOLD. 

This written warranty is intended as a complete and exclusive statement of the terms thereof. 
Prior dealings or trade usage shall not be relevant to modify, explain or vary this warranty. 
Acceptance of, or acquiescing in, a course of performance under this warranty shall not 
modify the meaning of their agreement even though either party has knowledge of the     
performance and a chance to object. 

This limited warranty gives you specific legal rights and you may also have other rights which 
vary from state to state. If any action or preceding results from this warranty, the prevailing 
party will be entitled to all costs and attorney fees incurred in defending or prosecuting such 
actions. 



Manuel de fonctionnement
Luminaires à DEL ultraviolette 365 nm

VS-60
VS-120

Français (Canada)



Table des matières 
 
 
Introduction           3 
 
 
Consignes de sécurité         3 
 
 
Spécifications          4 
 
 
Configuration et fonctionnement        5 
 Déballage          5 
 Accessoires en option         5 
 Installation          5 
 Utilisation de la source de contrôle locale      5 
 Effets (local)          5 
 Utilisation de la source de contrôle DMX512      6 
 Effets (DMX512)         6 
 Fonctions RDM          6 
 
 
Hiérarchie graphique         7 
 
 
Tableau DMX           10 
 
 
Maintenance           11 
 Changement/remplacement des éléments optiques     11 
 Mises à jour logicielles         11 
 Nettoyage          11 
 
 
Dépannage           11 
 
 
Diagrammes           12 
 Vues isométriques et linéaires VS-60       12 
 Vues isométriques et linéaires VS-120       13 
 vue explosée VS-60         14 

Liste des pièces VS-60         15 
 Vue explosée VS-120         16 
 Liste des pièces VS-120         17 
 Schématique VS-60         18 
 Schématique VS-120         19 
 Sortie spectrale et photométrie VS-60       20 
 Sortie spectrale et photométrie VS-120       21 
 
 
Garantie limitée          22 
 
 

 
 
 
2 



Introduction 
 
 
Félicitations pour votre achat d'un luminaire UV-A de la série Wildfire VioStorm. Les luminaires VioStorm combinent 
une vraie performance de longue portée à 365 nm avec le contrôle et l'efficacité de DEL. Comprenant les nouveaux 
éléments optiques interchangeables polyvalents et le système de contrôle DMX/RDM Trias intuitifs de Wildfire, 
l'éclairage UV VioStorm est simplement la parfaite combinaison de puissance, de rendement et de contrôle pour une 
tempête ultraviolette parfaite. Veuillez prendre un moment pour lire complètement ce manuel avant d'essayer d'utiliser 
le luminaire. Une configuration, utilisation ou entretien incorrects peuvent endommager le luminaire et annuler la 
garantie de l'appareil. 
 
 

Consignes de sécurité 
 
 
GROUPE DE RISQUES 3 - AVERTISSEMENT - CE LUMINAIRE ÉMET DES RADIATIONS ULTRAVIOLETTES (UV) 
À UNE LONGUEUR D'ONDE PRINCIPALE DE 365 NM, ÉVITEZ L'EXPOSITION OCULAIRE ET CUTANÉE À DES 
DISTANCES PLUS COURTES QUE 1 M (3,3 PI). NE REGARDEZ PAS DIRECTEMENT DANS LE FAISCEAU À 
DES DISTANCES PLUS COURTES QUE 3,3 M (11 PI) OU REGARDEZ DIRECTEMENT LE FAISCEAU AVEC DES 
INSTRUMENT OPTIQUES QUI PEUVENT CONCENTRER LA SORTIE LUMINEUSE/DES RADIATIONS. 
 
MISE EN GARDE – LORSQU'IL EST UTILISÉ SELON LES INSTRUCTIONS D'UTILISATION DU FABRICANT, 
AUCUN DANGER N'EXISTE POUR LA PLUPART DES PERSONNES À DES DISTANCES SUPÉRIEURES À 3,3 M 
(11 PI) DU LUMINAIRE. PAR CONTRE, LES INDIVIDUS SOUFFRANT D'UNE GAMME DE TROUBLES 
D'EXPOSITION AUX RAYONS SOLAIREES, APHAQUE ET PSEUDOAPHAQUE, OU LES INDIVIDUS RECEVANT 
UNE MÉDICATION PHOTOSENSIBLE PEUT SE SENTIR MAL À L'AISE SI EXPOSÉS À LA LUMIÈRE UV. 
 
MISE EN GARDE – NON POUR UTILISATION RÉSIDENTIELLE. EMPLACEMENTS SECS SEULEMENT. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
3 



Spécifications 
 
Bâti : 

Aluminium 5052 avec matériel en inox 
Finition : 

Revêtement en poudre noir mat 
Monture : 

Collet de déviation complètement réglable avec trois positions d'hauteur et support pour plancher détachable 
 intégré 
Source lumineuse UV : 

VS-60 : Six émetteurs à DEL UV 365 nm de 10 W 
VS-120 : Douze émetteurs à DEL UV 365 nm de 10 W 

Puissance radiante : 
VS-60 : 12 240 mW 
VS-120 : 24 480 mW 

Durée de vie de la DEL : 
20 000 h à 25 °C 

Éléments optiques : 
Silicone moulée 10°, 24° ou 40° 

Température de fonctionnement : 
-20° à 45 °C (-10° à 115 °F) 

Humidité : 
0 à 95 % sans condensation 

Connexions d'alimentation : 
Entrée et sortie Neutrik PowerCON 1 

Liaison d'alimentation : 
VS-60 : Huit unités à 120 VCA 
VS-120 : Quatre unités à 120 VCA 

Cordon d’alimentation : 
2,7 m (9 pi) 14/3 SOW avec PowerCON 1 et mâle Edison 

Connexions DMX : 
Neutrik or, mâle XLR à 5 broches, femelle XLR à 5 broches 

Canaux DMX : 
Trois (2 gradateurs de lumière, 1 effet) 

Modes de contrôle : 
Deux (DMX 512 et local) 

Modes d'opération : 
Trois (Canal 1, canal 2, canal 3) 

Connexion USB : 
Femelle USB mini-B rugueuse à l'amphénol 

Tension d'entrée : 
100 à 240 VCA 

Entrée de courant 
VS-60 : 0,88 A max. 
VS-120 : 1,73 A max. 

Fréquence : 
50 à 60 Hz 

Facteur d'alimentation : 
0,97 

Consommation d'énergie : 
VS-60 : 86 watts 
VS-120 : 170 watts 

Protection de circuits : 
Commutateur de disjoncteur magnétique hydraulique de 7 A 

Cadre accessoire : 
19,05 cm (7,5 po) 
25,4 cm (10 po) 

Poids : 
VS-60 : 4,69 kg (10,35 lb) 
VS-120 : 6,05 kg (13,35 lb) 

Classement de protection : 
IP-20 

Liste de sécurité : 
 ETL no 5004307 
 

4 



Configuration et fonctionnement 
 
Déballage 
Déballez le luminaire et inspectez-le attentivement pour tout signe de dommages physiques. Signalez immédiatement tout 
dommage à Wildfire ou à votre distributeur local. Les articles suivants devraient être inclus avec chaque unité : 
 

1. Vingt pinces, conçues pour fixer le luminaire à une armature de tuyauterie de 3,8 à 5,1 cm (1,5 à 2 po) 
2. Câble de sécurité, fourni pour fixer le luminaire lorsque monté sur une armature de tuyauterie 
3. Câble d'alimentation de 2,7 m (9 pi) 
5. Câble USB de 0,91 m (3 pi) 
6. Câble Connecteur Alim.-Sortie PowerCON 1 
7. Manuel de fonctionnement et carte d'enregistrement de la garantie 

 
Accessoires optionnelles 
Communiquez avec Wildfire ou votre distributeur local pour le prix des accessoires optionnels suivants : 
 

1. Portes de grange de 19,1 et 25,4 cm (7,5 et 10 po) 
2. Ensemble optique de projection 10° 
3. Ensemble optique de projection 24° 
4. Ensemble optique de projection 40° 

 
Installation 
Le luminaire est équipé d'un assemblage de collet de déviation pour le montage. Le collet de déviation peut être posé avec une 
pince à tuyau (incluse) pour un montage sur un assemblage de tuyauterie ou un bloc « cloche de bébé » ou une tige junior pour 
montage sur un socle lumineux. 
 
Si le luminaire est monté sur un assemblage de tuyauterie, assurez-vous d'utiliser le câble de sécurité fourni, l'enroulant autour de 
l'assemblage du collet de déviation et autour de l'assemblage de tuyauterie. Cela empêchera le luminaire de tomber et de 
possiblement causer des blessures si la pince de tuyau n'a pas été bien serrée. 
 
Pour régler l'angle du luminaire, desserrez légèrement les boutons de chaque côté de l'unité, tournez à l'angle désiré et serrez. Il 
faut s'assurer de bien fixer l'avant du luminaire tout en desserrant les boutons afin d'empêcher le luminaire de tourner vers l'avant, 
causant possiblement des blessures. 
 
Le luminaire vient standard avec un assemblage de support 19,1 cm (7,5 po) (VS-60) ou 25,4 cm (10 po) (VS-120) pour fixer à des 
portes de grange et à d'autres accessoires. Lors de l'utilisation d'accessoires, assurez-vous de fixer le câble de sécurité fourni par 
le fabricant de l'accessoire à l'assemblage du collet de déviation du luminaire. 
 
Branchez le luminaire dans la source d'alimentation appropriée. Si vous contrôlez le luminaire avec un panneau de commande 
d'éclairage, vous devrez vous assurer qu'il est branché dans un circuit non de gradation. Si le luminaire est branché dans un circuit 
de gradation, il ne fonctionnera pas. 
 
 
Source de contrôle locale 
Pour opérer le luminaire en mode de contrôle local, allumez le luminaire en appuyant sur le commutateur d'alimentation/disjoncteur 
à la position ALLUM. Réglez la sélection de menu Source de contrôle à « Local ». Réglez la sélection du menu Gradateur de 
lumière au niveau de sortie désiré (0 à 100 %). Réglez la sélection de menu Effet à l'effet désiré. 
 
Effets (local) 
Pour utiliser l'un des effets préprogrammés du luminaire en mode de contrôle local, réglez la sélection de menu Effets à l'effet 
désiré. Il existe six différents effets réglables que vous pouvez choisir 
 
Configuration Fonction Description 
Éteint  Aucun effet La statique de toutes les DEL à la brillance réglée sur la configuration du gradateur   
    de lumière 
Strob. 1-60 Strob.  Effets strob. réglables de toutes les DEL à la brillance réglée sur la configuration du   
    gradateur de lumière 
Clign. 1-60 Clign.  Clign. réglable de toutes les DEL à la brillance réglée sur la configuration du   
    gradateur de lumière 
Puls. 1-60 Puls.  Puls. réglable de toutes les DEL à la brillance réglée sur la configuration du    
    gradateur de lumière 
Aléat. 1-60 Aléat.  Effets strob. aléat. réglables de toutes les DEL à la brillance réglée sur la configuration du  
    gradateur de lumière 
Fondu lent 1-10 Fondu lent Séquence de fondu réglable de toutes les DEL à la brillance réglée sur la configuration du  
    gradateur de lumière 

5 



Source de contrôle DMX512 
Afin d'opérer le luminaire avec une source de contrôle DMX 512, branchez le luminaire à un appareil de contrôle DMX comme un 
panneau de commande d'éclairage ou un logiciel de contrôle lumineux. Allumez le luminaire en appuyant sur le commutateur 
d'alimentation/disjoncteur à la position ALLUM. Réglez la sélection de menu Source de contrôle à « DMX512 ». Si le luminaire 
reçoit des données DMX valides, vous verrez trois points clignoter dans le coin inférieur droit de l'écran. Près de la sélection de 
menu Mode DMX, réglez le nombre de canaux total que vous désirez utiliser. Il y a trois Modes DMS différents que vous pouvez 
choisir : 
 
Mode Canal 1  
 Gradation brute 
Mode Canal 2 
 Gradation brute 
 Gradation fine 
Mode Canal 3 
 Effets 
 Gradation brute 
 Gradation fine 
 
Près de la sélection de menu Adresse DMX, réglez l'adresse DMX de départ que vous désirez utiliser. Le nombre total d'adresses 
disponibles pouvant être choisies dépend du Mode DMX sélectionné. Cana 1 (001-512), Canal 2 (001-511), Canal 3 (001-510). 
Les adresses subséquentes seront en ordre numérique. 
 
Effets (DMX512) 
Pour utiliser l'un des effets préprogrammés du luminaire dans le mode de contrôle DMX512, réglez l'adresse DMX du canal des 
effets au réglage de l'effet désiré. Il existe six différents effets réglables que vous pouvez choisir : 
 
Valeur des données Fonction Description 
0-9   Aucun effet  La statique de toutes les DEL au réglage de brillance sur les canaux du gradateur de  
     lumière 
10-59  Strob.  Effets strob. réglables de toutes les DEL à la sortie définie sur les canaux du gradateur 
    de lumière 
60-109   Clign.  Clign. réglable de toutes les DEL à la sortie définie sur les canaux du gradateur de  
     lumière 
110-159   Puls.  Puls. réglable de toutes les DEL à la sortie définie sur les canaux du gradateur de  
     lumière 
160-209   Aléat.  Effets strob. aléat. réglables de toutes les DEL à la sortie définie sur les canaux du  
     gradateur de lumière 
210-255   Fondu lent Séquence de fondu réglable de toutes les DEL à la brillance réglée sur les canaux  
     du gradateur de lumière 
 
 
RDM 
La Gestion de l'appareil à distance est une amélioration du protocole à DMX512 qui permet une communication bidirectionnelle 
entre un contrôleur de système et les appareils conformes RDM fixés sur une ligne DMX conventionnelle. Cela permet la 
configuration à distance, la surveillance du statut et la gestion des appareils RDM branchés. Les luminaires VioStorm sont 
conformes avec le protocole RDM et la surveillance du support et le réglage des paramètres suivants : 
 
Modèle du luminaire Affiche le modèle du luminaire suivi par la configuration optique courante 
Étiquette du luminaire  Affiche et règle à distance l'étiquette du luminaire 
Fabricant   Affiche le nom du fabricant du luminaire 
Version logicielle  Affiche la version logicielle actuelle du luminaire 
Adresse DMX  Affiche et règle à distance l'adresse DMX de départ. 
Heures de l'ampoule Affiche les heures totales que le luminaire est allumé 
État de l'ampoule  Affiche l'état actuel de la DEL, ÉTEINTE ou ALLUMÉE 
Température  Affiche la température du module DEL actuel avec un avertissement de surtempérature à 55 oC 
T/M de ventilateur Affiche le T/M courant pour les ventilateurs A et B avec des avertissements de défaillances du ventilateur à 

0 T/M 
ID de l'appareil  Affiche l'ID d'appareil unique du luminaire 
 
En mode DMX et local, si aucun bouton n'est appuyé dessus pendant 60 secondes, l'écran s'éteindra. Pour le réactiver, appuyez 
sur tout bouton. 
 
La fonction Heures de DEL enregistre le nombre total d'heures que le luminaire est allumé. Pour réinitialiser ce nombre, choisissez 
la sélection de menu Heures de DEL et appuyez et maintenez le bouton HAUT ou BAS pendant 6 secondes. 
 
Les luminaires VioStorm sont équipés d'un circuit de protection automatique de températures élevées qui éteint les DEL si la 
température dépasse les 70 oC. Une fois les DEL refroidis à 65 oC, elles se rallumeront. 

6 



VioStorm VS-60
Revision 1.2

UP

BAS

Source de contrôle
Local

SÉLECT.{

Menu Accueil

> Source de contrôle
Local>

Adresse DMX
509

SÉLECT.{
> Adresse DMX

509        ...>

Hiérarchie graphique

Lorsque le signal DMX est présent
3 points clignotent à l'écran

Adresse DMX

510       ...>

RDM: Affiche et règle l'adresse DMX

7

HAUT

BAS

HAUT

BAS

Source de contrôle
DMX512     ...>

DMX Mode
1 Canal

SÉLECT.{
> DMX Mode

1 Canal...>

DMX Mode 
2 Canal...>

RDM: Affiche DMX Mode

HAUT

DOWN

DMX Mode
3 Canal...>

HAUT

BAS

HAUT

BAS

HAUT

BAS

Prochaine page

HAUT

BAS

RDM: Affiche modèle luminaire et 
révision logicielle



Hiérarchie graphique

8

Gradateur de 
lumière 7%

SÉLECT.
> Gradateur de 

lumière 7%>

HAUT

BAS

Effet Éteint
SÉLECT.

>
Effet Éteint>

HAUT

BAS

Heures de DEL
25

SÉLECT.

Appuyer sur HAUT ou BAS pendant 
6 secondes réinitialise les heures de 
la DEL

> Heures de DEL
25>

HAUT

BAS

Prochaine page

Température 25C
SÉLECT.

>
Température 25C>

HAUT

BAS

Appuyer sur HAUT ou BAS n'a 
aucune{2][3}fonction lorsque la 
Source de contrôle est réglée à DMX

Gradateur de 
lumière 7%>

Les sélections d'effets sont : Éteint, 
Strob. 1-60, Clig. 1-60,  Puls. 1-60, 
Aléat. 1-60 et Fondu lent 1-10

Effet Éteint>

Appuyer sur HAUT ou BAS n'a 
aucune fonction lorsque la Source 
de contrôle est réglée à DMX512

Lorsque la température dépasse 70C, 
les DEL s'éteignent. Une fois refroidie à
65C, les DEL se rallument

RDM: Affichage de temp. et 
d'avertissement de surtemp. à 55C

RDM: Affiche les heures de l'ampoule

HAUT

BAS

Gradateur de 
lumière 8%>

Source de contrôle local Source de contrôle DMX512

HAUT

BAS

HAUT

BAS

Effet
Strobe 1>

HAUT

BAS

HAUT

BAS

Heures de DEL
0>

Appuyer sur HAUT ou BAS n'a
aucune fonction.

HAUT

BAS



T/M Ven
A-4000 B-4000

SÉLECT.
> T/M Ven

A-4000 B-4000>

HAUT

BAS

Mise à jour du
programme Confirm.

SÉLECT.

Une fois le Mode Charg. de démar. 
invoqué, le luminaire éteindra les 
DEL et attendra la mise à jour. 
Lorsque l'installation est complétée,
il reviendra au menu d'accueil et 
poursuivra son opération normale.

> Mise à jour du
programme Confirm.>

HAUT

Retourne au Menu Accueil

Hiérarchie graphique

ID de l'appareil
0X57466E228870

SÉLECT.
> ID de l'appareil

0X57466E228870>

HAUT

BAS

Mode Charg. de 
démar. en attente 
du fichier

HAUT

RDM: Affiche le T/M du vent. Etd 
un avertissement à 0 T/M.

RDM: Affiche l'ID de l'appareil

9

Pour quitter le Mode Charg. de 
démar. sans mettre à jour le logiciel, 
éteignez le commutateur 
d'alimentation du luminaire

Type d'éléments 
optiques 40° 
Réflecteur

SÉLECT.
>

HAUT

BAS

Appuyer sur HAUT ou BAS pendant 
6 secondes débloque le Type
d'éléments optiques

Type d'éléments 
optiques 10° Proj.>

HAUT

BAS

Type d'éléments 
optiques 24° 
large Proj.

>

HAUT

BAS 

Type d'éléments 
optiques 40° 
Réflecteur

>
RDM: Type d'éléments optiques

Appuyer sur HAUT ou BAS n'a 
aucune fonction.

HAUT

BAS

Appuyer sur HAUT ou BAS n'a 
aucune fonction.

HAUT

BAS



Wildfire Trias® Logiciel de système de contrôle d'éclairage Rév. 1.3 
Attribution de canal DMX VioStorm VS-60 et VS-120

Mode Canal 1
Canal DMX Étiquette de canal Adresse DMX Valeur des données Fonction de contrôle Description
Canal 1 Gradation brute 1 0-255 Gradation (0 à 100 %) Réglage du niveau de brillance de toutes les DEL UV 0 à 100 %

Mode Canal 2
Canal DMX Étiquette de canal Adresse DMX Valeur des données Fonction de contrôle Description
Canal 1 Gradation brute 1 0-255 Gradation (0 à 100 %) Réglage brut du niveau de brillance de toutes les DEL UV 0 à 100 %
Canal 2 Gradation fine 2 0-255 Gradation (0 à 100 %) Réglage fin du niveau de brillance de toutes les DEL UV 0 à 100 %

Mode Canal 3
Canal DMX Étiquette de canal Adresse DMX Valeur des données Fonction de contrôle Description
Canal 1 Effets 1 0-9 Effets éteints Toute la statique de DEL au niveau de brillance réglé sur les canaux 2 et 3

10-59 Effets strob. Toute la statique de DEL au niveau de brillance réglé sur les canaux 2 et 3 à un taux réglable de 2 à 12 I/S
60-109 Clign. Clignote toutes les DEL au niveau de brillance réglé sur les canaux 2 et 3 à un taux réglable de 1 à 12 I/S
110-159 Puls. Fait pulser toutes les DEL au niveau de brillance réglé sur les canaux 2 et 3 à un taux réglable d'une pulsation de longueur 5 sec. a 4 pulsations/sec.
160-209 Aléatoire Effets stroboscopiques aléatoires de toutes les DEL au niveau de brillance réglé sur les canaux 2 et 3 à un taux réglable
210-255 Fondu lent Fait passer lentement d'ALLUMÉ à ÉTEINT toutes les DEL au niveau de brillance réglé sur les canaux 2 et 3 à une configuration de séquence de 1 à 10 min.

Canal 2 Gradation brute 2 0-255 Gradation (0 à 100 %) Réglage brut du niveau de brillance de toutes les DEL UV 0 à 100 %
Canal 3 Gradation fine 3 0-255 Gradation (0 à 100 %) Réglage fin du niveau de brillance de toutes les DEL UV 0 à 100 %

Séquence d'effet de fondu lent
Réglage Durée totale Durée ALLUMÉ Durée Fondu Durée Éteint
1 m 2:10 1:00 :10 1:00
2 m 4:10 2:00 :10 2:00
3 m 6:30 3:00 :30 3:00
4 m 8:30 4:00 :30 4:00
5 m 10:30 5:00 :30 5:00
6 m 12:30 6:00 :30 6:00
7 m 14:30 7:00 :30 7:00
8 m 16:30 8:00 :30 8:00
9 m 18:30 9:00 :30 9:00
10 m 20:30 10:00 :30 10:00

 10



Maintenance et dépannage 
 
 
Changement/Remplacement de l'élément optique 
Pour changer les éléments optiques, débranchez le luminaire. Enlevez les accessoires de l'avant. Positionnez le luminaire sur le 
socle du collet de déviation afin qu'il pointe vers le haut. Enlevez le biseau optique de l'avant du luminaire, exposant les éléments 
optiques. Enlevez les 16 (VS-60) ou 32 (VS-120) petites vis tenant les plaques optiques sur le ou les modules à DEL. Levez droit 
vers le haut les éléments optiques et la plaque et hors du module. Pour remplacer, suivez ces étapes en sens inverse. Les 
ensembles optiques suivants sont disponibles pour les luminaires de la série VioStorm. Communiquez avec Wildfire ou avec votre 
distributeur local pour les prix 
 
No pièce  Description    VS-60   VS-120 
124-030  Ensemble optique de projecteur 10°  1 ensemble  2 ensembles 
124-031  Ensemble optique de projecteur 24°  1 ensemble  2 ensembles 
124-032  Ensemble optique de projecteur 40°   ensemble  2 ensembles 
 
Une fois les éléments optiques changés, réglez la sélection du menu Type d'optique à la nouvelle configuration d'optiques en 
appuyant et en maintenant les boutons HAUT ou BAS pendant 6 secondes, ce qui débloque la sélection de menu et vous permet 
de changer la configuration de l'optique affichée. Naviguer hors de la sélection du menu Type d'optique bloque la nouvelle 
configuration optique choisie. 
 
Mises à jour logicielles 
La version logicielle de contrôle de la série VioStorm est affichée sur l'écran du menu accueil comme vue en-dessous à la Fig. 1. 
Lorsque des mises à jour logicielles sont disponibles, elles peuvent être téléchargées directement du site Web de Wildfire : 
www.wildfirefx.com/resources/downloads/. Vous devrez télécharger le programme complet de chargeur au démarrage/installation 
et le sauvegarder sur votre bureau. Suivez les instructions fournies avec le téléchargement pour mettre à jour le logiciel. 
 
 
 
 
 
 
 

Fig. 1 
 
Nettoyage 
Pour de meilleures performances, les évents de ventilation du luminaire doivent être conservés exempts de saletés et de 
poussière.  En aucun temps des produits chimiques ou des abrasifs de nettoyage doivent être utilisés afin de nettoyer toute pièce 
du luminaire. Ne pulvérisez pas et n'appliquez pas aucun liquide directement sur toute partie du luminaire.  Débranchez toujours le 
luminaire avant de le nettoyer. Pour un nettoyage normal, un chiffon doux sec doit être utilisé pour essuyer toute surface 
présentant de la poussière ou de légères saletés. 
 
 
Dépannage 
 
Le luminaire ne s'allumera pas : – Vérifiez pour vous assurer que le luminaire est alimenté. Assurez-vous que le commutateur 
d'alimentation/disjoncteur au dos du luminaire n'a pas été déclenché. Si vous avez vérifié tout cela et que le luminaire ne s'allume 
toujours pas, communiquez avec le soutien technique Wildfire au 310 755-6780 ou avec votre distributeur local. 
 
Le luminaire s'allume mais il n'y a aucune sortie de lumière UV : Assurez-vous que le luminaire est réglé à la bonne 
configuration de Source de contrôle pour votre mode de fonctionnement. (DMX512 ou LOCAL) Si vous faites fonctionner le 
luminaire en mode local, assurez-vous que la sélection de menu Gradateur de lumière n'est pas complétement réglée vers le bas. 
Si vous faites fonctionner le luminaire en mode DMX, assurez-vous que les canaux du gradateur sur votre appareil de contrôle 
lumineux ne sont pas complétement réglé vers le bas. Si vous avez vérifié tout cela et que le luminaire ne s'allume toujours pas, 
communiquez avec le soutien technique Wildfire au 310 755-6780 ou avec votre distributeur local. 
 
 
 
 
 
 
 

11 

http://www.wildfirefx.com/resources/downloads/


Vues isométriques et linéaires VS-60

12

Diagrammes

901-113-03 VS-60 Trait

11.31  

7.50  

14.54  

7.56  

8.96  

16.97  

17.34  

9.33  

10.24  



Vues isométriques et linéaires VS-120

13

Diagrammes

901-114-01 VS-120 Trait

13.81  

10.00  

17.51  

15.12  

7.81  

11.23  

11.43  

11.80  

17.89  



Vue explosée VS-60

14
900-113-03 VS-60 Explosé

31

35

46 23

47

22

50

39
40 19

38

41

10
36

33

23

12

8 13
9

1

11

47 29

30 27

28

4516

47 4

47

5
2 44

6 7
22

3421 23

3

42
47

24 26 14
15 43

20

25

18

17
37

48 49

32



Liste de pièces VS-60

15

# QTÉ. NO. PIÈCE NOM DE LA PIÈCE
1 1 104-068-04   Bâti, Dessous, VS-60
2 2 112-006

  

Ventilateur, 24 VCC, 60 x 60 x 10 mm
3 1 104-062-04     Couverture, Bâti, AVANT, VS-60
4 1 110-035 Alimentation électrique, 48 VCC, 160 W
5 1 104-100-02 Dissipateur thermique avec support, Série VS
6 1 104-102-03 Dissipateur thermique, Série VS
7 1 117-001-02 6 DEL UV Module MCPCB
8 1 115-009-02 Panneau, Commande DMX/RDM Rév. 2
9 1 115-011-01 Écran de panneau, 2x16 rouge, OLED

10 1 115-010-01 Panneau, Contrôle tactile à 3 boutons, Rév. 1
11 1 104-069-03 Bâti, Haut, VS-60
12 4 121-067 Élément de distance, 3/16 po hex. M-F, 4-40 x 1-1/2 A
13 1 116-009-02 Panneau, Pilote de DEL à 4 canaux Rév. 2
14 2 103-006-02 Espaceur, collier de déviation
15 1 104-035-02 Collier de déviation, VS-60
16 3 104-101-02 Support, Accessoire, Série VS
17 2 121-029 Boulon, Ordinaire, 3/8-16 x 3/4 po
18 2 121-063 Rondelle, DE 1,250, DI 0,375, Épais. 0,125, Néoprène
19 1 106-030 Connecteur, XLR à 5 broches, Mâle
20 2 120-001 Bouton, Collier de déviation
21 2 104-103-02 Plaque, Optique, Série VS
22 8 121-001 Vis, M, PHL, PH, 4-40 x 1/4 po 18-8 inox
23 26 121-090 Vis, PHL, PH, 2-56 x 1/4 po 18-8 inox
24 1 107-001 Cordon, Alimentation, Noir, 14 AWG, 2,7 m (9 pi)
25 2 120-004 Bouton, Support de socle de plancher
26 1 106-050 Connecteur, PowerCON 1, ENTRÉE alimentation

# QTÉ. NO. PIÈCE NOM DE LA PIÈCE
27 1 104-077-03 Base, Accessoire, Dispositif de sécurité
28 1 104-078-02 Accessoire de verrou, Dispositif de sécurité
29 1 104-098-02 Ressort, Torsion double
30 1 121-027 Boulon, Baril, M, COM, PH, 0,25 x 1,5 po 18-8 inox
31 1 121-026 Vis, M, COM, PH, 10-32, 0,25 po 18-8 inox
32 2 121-032 Écrou à rivet, Obscur, 3/8 po-16
33 1 104-063-04 Couverture, Bâti, Arrière
34 6 124-030 (031)(032) Élément optique, Silicone (10° Proj.), (24° Proj. agr.), (40° F)
35 4 121-071 Élément de distance, 3/16 po hex. Fileté, F-F 2-56 x 7/16 po
36 1 106-060 Connecteur, Mini-B USB, Femelle
37 1 104-104-01 Support, Socle de collier de déviation, VS-60
38 1 106-031 Connecteur, XLR à 5 broches, Femelle
39 1 106-051 Réceptacle, PowerCON 1, ENTRÉE alimentation
40 1 106-053 Réceptacle, PowerCON 1 SORTIE alimentation
41 1 128-017-04 Câble, Contrôle VS-60
42 1 104-106-01 Biseau, Élément optique, VS-60
43 2 121-060 Rondelle, Plate, DE 1,25 po, DI 13/32 po, 0,13 épais., 18-8 inox
44 8 121-009 Vis, M, PHL, FH, 6-32 x 5/8 po 18-8 inox
45 6 121-007 Vis, M, PHL, PH, 6-32 x 3/8 po 18-8 inox
46 8 121-002 Vis, M, PHL, FH, 4-40 x 3/8 po 18-8 inox
47 34 121-005 Vis, M, PHL, PH, 6-32 x 1/4 po 18-8SS inox
48 1 147-021 Pince, Vingt, Noire
49 1 147-002 Câble, Sécurité, 1/8 po
50 1 105-001 Disjoncteur, Carling, 3 A



Vue explosée VS-120

16
900-114-02 VS-120 Explosé

7

1

39

5

44734

37
39

3610
35

38
33

32

11
1718

2716

12

12

26

25
19

15
12 20

22 23 21
31

2829

50
4913

41
42 48 43

46

44

45

2
11 6

1412

10 8

10

24

30

10

40



Liste de pièces VS-120

17

# QTÉ. NO. PIÈCE NOM DE LA PIÈCE
1 1 104-112-01 Bâti couverture, Avant, VS-120
2 2 117-001-02 6 DEL UV Module MCPCB
3 12 121-009 Vis, M, PHL, FH, 6-32 x 5/8 po 18-8 inox
4 2

104-114-01 Dissipateur thermique avec support, Série VS5 1

104-102-03 Dissipateur thermique, Série VS

6 4 104-103-02 Plaque, Optique, Série VS
7 1 104-116-01 Biseau, Élément optique, VS-120
8 1 110-035 Alimentation électrique, 48 VCC, 160 W
9 3 112-006 Ventilateur, 24 VCC, 60 x 60 x 10 mm

10 38 121-005 Vis, M, PHL, PH, 6-32 x 1/4 po 18-8 inox
11 12 121-001 Vis, M, PHL, PH, 4-40 x 1/4 po 18-8 inox
12 42 121-090 Vis, PHL, PH, 2-56 x 1/4 po 18-8 inox
13 1 104-115-02 Support, Socle de collier de déviation, VS-120
14 12 124-030, (031)(032) Élément optique, Silicone (10° Proj.), (24° Proj. agr.), (40° F)
15 1 128-018-02
16 1 115-011-01 Écran de panneau, 2x16 rouge, OLED
17 4 121-067 Élément de distance, 3/16 po hex. M-F, 4-40 x 1-1/2 po AL
18 1 115-009-02 Panneau, Commande DMX/RDM Rév. 2
19 1 115-010-01 Panneau, Contrôle tactile à 3 boutons, Rév. 1
20 1 106-030 Connecteur, XLR à 5 broches, Mâle
21 1 106-031 Connecteur, XLR à 5 broches, Femelle
22 1 106-051 Réceptacle, PowerCON 1, Sortie alimentation
23 1 106-053 Réceptacle, PowerCON 1, Entrée alimentation 
24 1 105-003 Disjoncteur, Carling, 7 A
25 1 104-113-01 Bâti couverture, Arrière, VS-120
26 1 106-060 Connecteur, Mini-B USB, Femelle

# QTÉ. NO. PIÈCE NOM DE LA PIÈCE
27 4 121-071 Élément de distance, 3/16 po hex. Fileté, F-F 2-56 x 7/16 po
28 1 106-050 Connecteur, PowerCON 1, Entrée alimentation
29 1 107-001 Cordon, Alimentation, 14 AWG, 2,7 m (9 pi) Noir
30 1 116-009-02 Panneau, Pilote de DEL à 4 canaux Rév. 2
31 8 121-002 Vis, M, PHL, FH, 4-40 x 3/8 po 18-8 inox
32 1 104-110-02     Bâti, Bas, VS-120
33 1 104-111-02   Bâti, Haut, VS-120
34 3 104-101-02 Support, Accessoire, Série VS
35 1 104-077-03 Base, Accessoire, Dispositif de sécurité
36 1 104-098-02 Ressort, Torsion double
37 1 104-078-02 Verrou, Accessoire, Dispositif de sécurité
38 1 121-027 Baril de boulon, M, COM, PH, 0,25 x 1,5 po 18-8 inox
39 1 121-026 Vis, M, COM, PH, 10-32, 0,25 po 18-8 inox
40 2 121-032 Écrou à rivet, Obscur, 3/8 po-16
41 2 103-006-02 Espaceur, collier de déviation
42 1 104-036-01 Collier de déviation, VS-120
43 2 120-001 Bouton, Collier de déviation
44 2 121-063 Rondelle, Néoprène, DE 1,25 po, DI 0,375 po, Épais. 0,125
45 2 121-029 Boulon ordinaire, 3/8 po - 16 x 3/4 po, 18-8 inox
46 2 120-004 Bouton, Support de socle de plancher
47 6 121-007 Vis, M, PHL, PH, 6-32 x 3/8 po 18-8 inox
48 2 121-060 Rondelle, Plate, DE 1,25 po, DI 13/32 po, 0,13 épais., 18-8 inox
49 1 147-021 Pince, Vingt, Noire
50 1 147-002 Câble, Sécurité, 1/8 po

Étiquette, Contrôle, VS-120



Schématique, série VS-60

18

ENTRÉE DMX    SORTIE DMX USB

2

1

3 4

5 1

25

4 3

L
N

EN
TR

ÉE
 C

A
G

AL
IM

EN
TA

TI
ON

 É
LE

CT
. 4

8V
CC

PANNEAU DE COMMANDE DMX

VENT. A
+- PT

VENT. B
+- PT

VENT. C
+- PT

US
B

DM
X

DM
X

CH
 3

CH
 2

CH
 1

CH
 4

PANNEAU DE COMMANDE DEL

TH
ER

MI
ST

AN
CE

ENTRÉE 48VCC
ENTRÉE 48VCC

MODULE 1 DEL

IN
TE

RR
UP

TE
UR

 TA
CT

ILE
 C

AP
AC

IT
IF

HA
UT

BA
S

SÉ
LE

CT
.

TACTILE

VENT. 12VCC

48V
SORTIES CC

48V 48V 12V

     COMMUTATEUR / DISJONCTEUR SORTIE CAENTRÉE CA



Schématique, série VS-120 

19

ENTRÉE DMX   SORTIE DMX USB

2

1

3 4

5 1

25

4 3

L
N

EN
TR

ÉE
 C

A
G

AL
IM

EN
TA

TI
ON

 É
LE

CT
. 4

8V
CC

48V

PANNEAU DE COMMANDE DMX

VENT. A
+- PT

VENT. B
+- PT

VENT. C
+- PT

US
B

DM
X

DM
X

CH
 3

CH
 2

CH
 1

CH
 4

PANNEAU DE COMMANDE DEL

TH
ER

MI
ST

AN
CE

ENTRÉE 48VCC
ENTRÉE 48VCC

MODULE 2 DEL

MODULE 1 DEL

IN
TE

RR
UP

TE
UR

 TA
CT

ILE
 C

AP
AC

IT
IF

HA
UT

BA
S

SÉ
LE

CT
.

TACTILE

VENT. 12VCC

SORTIES CC
48V 48V 12V

     COMMUTATEUR / DISJONCTEUR SORTIE CAENTRÉE CA



Graphique de sortie spectrale

20

Diagramme de photométrie

UV-A LUMIÈRE VISIBLE

0

10%

20%

PO
U

R
C

EN
TA

G
E 

D
E 

TR
AN

SM
IS

SI
O

N

LONGUEUR D'ONDE /NM

30%

40%

100%

90%

80%

70%

60%

50%

32
0

33
0

34
0

35
0

36
0

37
0

38
0

39
0

40
0

41
0

42
0

43
0

44
0

45
0

46
0

47
0

48
0

49
0

50
0

51
0

52
0

53
0

54
0

55
0

56
0

57
0

58
0

59
0

60
0

61
0

62
0

63
0

64
0

65
0

66
0

67
0

68
0

Modèle VS-60S 10  Proj. °
 Distance en Pieds/Mètres 

0.90

0.27

1,248

1.70

0.52

312

3.50

1.07

78

5.20

1.58

34.6

7.00

2.13

19.5

8.70

2.65

12.4

10.50

3.20

8.6

12.20

3.72

6.3

14.00

4.27

4.8

15.70

4.79

3.8

17.50

5.33

3.1

19.20

5.85

2.5

21.00

5.85

2.1

Modèle VS-60WS 24  Proj. large 
 Distance en Pieds/Mètres 

1.43

0.64

804

4.30

1.31

201

8.50

2.59

50.2

12.80

3.90

22.3

17.00

5.18

12.5

21.30

6.49

12.5

25.50

7.77

8.0

29.80

9.08

5.5

34.00

10.36

4.1

38.30

11.67

3.1

42.50

12.95

2.4

°

Modèle VS-60F 40  Réfl. 
 Distance en Pieds/Mètres

3.60

1.10

650

7.30

2.22

162.5

14.60

4.45

40.6

21.80

6.64

18.0

29.10

8.87

10.1

36.40

11.09

6.5

43.70

13.32

4.5

51.00

15.54

3.3

58.20

17.74

2.5

°

Diamètre du faisceau en pieds

Diamètre du faisceau en mètres

Irradiance UV-A de pointe W/cm2

Diamètre du faisceau en pieds

Diamètre du faisceau en mètres

Irradiance UV-A de pointe W/cm2

Diamètre du faisceau en pieds

Irradiance UV-A de pointe W/cm2

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8
90

 / 
27

.4
3

10
0 

/ 3
0.

48
11

0 
/ 3

3.
53

12
0 

/ 3
6.

57

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8
90

 / 
27

.4
3

10
0 

/ 3
0.

48

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8

Toutes les mesures d'irradiance UV-A de pointe prises au centre du faisceau à l'aide du radiomètre UVX numérique et un capteur 365 nm étalonné

Diamètre du faisceau en pieds



Graphique de sortie spectrale

21

Diagramme de photométrie

UV-A LUMIÈRE VISIBLE

0

10%

20%

PO
U

R
C

EN
TA

G
E 

D
E 

TR
AN

SM
IS

SI
O

N

LONGUEUR D'ONDE /NM

30%

40%

100%

90%

80%

70%

60%

50%

32
0

33
0

34
0

35
0

36
0

37
0

38
0

39
0

40
0

41
0

42
0

43
0

44
0

45
0

46
0

47
0

48
0

49
0

50
0

51
0

52
0

53
0

54
0

55
0

56
0

57
0

58
0

59
0

60
0

61
0

62
0

63
0

64
0

65
0

66
0

67
0

68
0

Modèle VS-120S 10  Proj.°
 Distance en Pieds/Mètres

0.90

0.27

2400

1.70

0.52

600

3.50

1.07

150

5.20

1.58

66.6

7.00

2.13

37.5

8.70

2.65

24.0

10.50

3.20

12.2

12.20

3.72

9.3

14.00

4.27

7.4

15.70

4.79

6.0

17.50

5.33

4.9

19.20

5.85

4.1

21.00

5.85

3.5

Modèle VS-120WS 24  Proj. large 
 Distance en Pieds/Mètres  

1.43

0.64

1525

4.30

1.31

381

8.50

2.59

95.3

12.80

3.90

42.3

17.00

5.18

23.8

21.30

6.49

15.2

25.50

7.77

10.5

29.80

9.08

7.7

34.00

10.36

5.9

38.30

11.67

4.7

42.50

12.95

3.8

°

Modèle VS-120F 40  Réfl. 
 Distance en Pieds/Mètres  

3.60

1.10

1325

7.30

2.22

331

14.60

4.45

82.8

21.80

6.64

36.8

29.10

8.87

20.7

36.40

11.09

13.2

43.70

13.32

9.2

51.00

15.54

6.7

58.20

17.74

5.1

°

Diamètre du faisceau en pieds

Diamètre du faisceau en mètres

Irradiance UV-A de pointe W/cm2

Diamètre du faisceau en pieds

Diamètre du faisceau en mètres

Irradiance UV-A de pointe W/cm2

Diamètre du faisceau en pieds

Diamètre du faisceau en mètres

Irradiance UV-A de pointe W/cm2

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8
90

 / 
27

.4
3

10
0 

/ 3
0.

48
11

0 
/ 3

3.
53

12
0 

/ 3
6.

57

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8
90

 / 
27

.4
3

10
0 

/ 3
0.

48

5 
/ 1

.5
2

10
 / 

3.
05

20
 / 

6.
10

30
 / 

9.
14

40
 / 

12
.1

9
50

 / 
15

.2
4

60
 / 

18
.2

9
70

 / 
21

.3
3

80
 / 

24
.3

8

Toutes les mesures d'irradiance UV-A de pointe prises au centre du faisceau à l'aide du radiomètre UVX numérique et un capteur 365 nm étalonné



Garantie limitée de trois ans de Wildfire Lighting

Wildfire Lighting garantit au propriétaire original ou au client final que pour une période de trois 
ans depuis la date de livraison de tout luminaire Wildfire; utilisé dans une installation portable 
ou permanente, de tels luminaires seront exempts de défauts dans les matériaux et la main-
d'oeuvre sous des conditions normales d’utilisation.

La garantie ne couvre pas tout produit ou partie d’un produit qui a été sujet à un accident, une 
négligence, une altération, un abus ou une mauvaise utilisation et exclut tous les accessoires ou les 
pièces non fournies par Wildfire. La garantie ne couvre pas les pièces consommables, comme les 
fusibles, les lampes, le verre ou tout composant directement garanti au propriétaire par le fabricant 
original. Cette garantie ne s’étend pas aux produits non fabriqués par Wildfire.

La responsabilité de Wildfire selon cette garantie doit être de réparer ou remplacer, à la discrétion de 
Wildfire, de telles pièces déterminées être défaillantes sous une inspection par Wildfire. Wildfire 
n’assumera pas une responsabilité pour toute dépense de main-d'oeuvre ou de matériaux utilisés 
pour réparer tout équipement sans une autorisation écrite préalable de Wildfire.

Wildfire, Inc. ne doit pas être tenu responsable pour tout dommage accidentel, général ou consécutif 
aux biens, dommage pour la perte d’utilisation, de temps, de profits ou de revenus, ou pour tout autre 
 frais.

L’obligation du propriétaire lors de la période de garantie est d'aviser Wildfire de toute défaillance 
possible, d’obtenir un numéro d'autorisation de retour, et de retourner le produit par fret et assurance 
 prépayés à l'adresse suivante :

Wildfire Lighting 2908 Oregon Court Suite G1, Torrance, CA 90503 
(800) 937-8065  (310) 755-6780

Les expéditions par collecte pour les indemnités de fret ou les expéditions sans un numéro 
d'autorisation de retour ne seront pas acceptées.

CETTE GARANTIE REMPLACE TOUTE AUTRE GARANTIE EXPLICITE OU IMPLICITE, Y 
COMPRIS LES GARANTIES DE QUALITÉ MARCHANDE ET D'ADÉQUATION À UN USAGE 
PARTICULIER, ET TOUTES LES AUTRES OBLIGATIONS ET RESPONSABILITES DE LA PART DE 
WILDFIRE. IL N’Y A PAS DE GARANTIES QUI SE PROLONGENT AU-DELÀ DE LA DESCRIPTION 
DES PRÉSENTES. LE PROPRIÉTAIRE RECONNAIT QU’AUCUNE AUTRE REPRÉSENTATION 
NE LUI A ÉTÉ EFFECTUÉE CONCERNANT LA QUALITÉ ET LA FONCTIONNALITÉ DES BIENS 
VENDUS.

Cette garantie écrite est voulue comme une déclaration complète et exclusive des termes des 
présentes. Des transactions antérieures ou une utilisation commerciale ne doit pas être pertinente 
pour modifier, expliquer ou varier cette garantie. L'acceptation de, ou l’acquiescement à, des 
modalités d'exécution selon la présente garantie ne doit pas modifier la signification de l'accord 
même si l’autre groupe a connaissance de l'exécution et une chance à s’objecter.

Cette garantie limitée vous donne des droits légaux spécifiques, et vous pourriez avoir d'autres droits 
qui varient d'un état/province à l'autre. Si tout procès ou poursuite découle de cette garantie, le 
groupe prévalant aura le droit au remboursement de tous les coûts et frais d'avocats subis dans la 
défense ou la poursuite d’un tel procès.



2908 Oregon Ct. Suite G1, Torrance, CA 90503
P: 310.755.6780  800.937.8065  F: 310.755.6781
wildfirelighting.com  mail@wildfirelighting.com

2017 Wildfire, Inc.c

215-005-05


	VioStorm DMX Chart.pdf
	Sheet1

	Manual VioStorm French (Canadian) 215-005-05.pdf
	VioStorm DMX Chart_French (Canadian).pdf
	Feuille1

	VioStorm DMX Chart_French (Canadian).pdf
	Feuille1

	VioStorm DMX Chart_French (Canadian).pdf
	Feuille1





